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HEX-E/H QC
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—iE N [REE R BB

Fxy Fz Txy Tz
RREE (N.O) 200 200 10 6.5 [N] [Nm]
IRBERG TWEMEST (HBE | +1.7 +0.3 +2.5 +5 [mm] [° ]
) +0.067 |£0.011 |£2.5 +5 [ETI ]
BRI 500 500 500 500 [%]
ESRE (BEE) 0.035 0.15 0.002 0.001 [N] [Nm]
EEREAPE (ARE) 0.2 0.8 0.01 0.002 [N] [Nm]
L ERELMY <2 <2 <2 <2 [%]
W% (EFz I DNERMEREE) (<2 <2 <2 <2 [%]
B (HEE) <5 <5 <5 <5 [%]
IP %R 67
R~H(E x 5 x K) 50x71x93 [mm]

1.97 x 2.79 x 3.66 [inch]
BE (SWEER) 0347 0
*EBREENNAR—VEHESHINEREZ (1 ),
B R/ME mEE RXE B
==p/ 7 24 [V]
IhiE 0.8 [(w]
BiERE S > L
HXEE (TRE) 0 95 [%]
I E A MTBF (T{E3FdN) 30.000 [/INBF]
b 1=
HERHMMENED  ERBIMUUEGRERIETT - BEGKRBEN - SERLER - 22U
FEERME (ALE—1NHMNE ) IBP - TMREEXRE - TRERTERMEITS -
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iR @robot

HEX-H QC

—iE N [RIBIE RS B
Fxy Fz Txy Tz
IRABE (N.C) 200 200 20 13 [N] [Nm]
IRBERG MROSRMZE (HE | +0.6 +0.25 +2 +3.5 [mm] [ ]
) +0.023 [+ 0.009 |*+2 +3.5 EXiI
gt 500 400 300 300 [%]
EBsEr (BEE) 0.1 0.2 0.006 0.002 [N] [Nm]
TRESPE (BEE) 0.5 1 0.036 0.008 [N] [Nm]
S EMRFELN <2 <2 <2 <2 [%]
s (E FzH ENERERE) (<2 <2 <2 <2 [%]
B (BEEE) <5 <5 <5 <5 [%]
IP E4 67
R~ (& x B x K) 50x71x93 [mm]
1.97 x2.79 x 3.66 [inch]
B2 (BNERER) o3 0

*ERREEXNHB—MEHESHIERZ (1 o).

BN =/ME mEE &XE Bl
=P 7 - 24 (V]
BojF =3 - - 0.8 [W]
2 1k 38 0 - 55 [ d
E%'ﬂ;um,; 32 _ 131 [o F]
HXREE (TR5E ) 0 - 95 [%]
HE L MTBF (TEFHd) 30.000 - - [/
8 ZmE

HEEHMFESED - CRBULUUETRRABEEZRTT - BERREER - BOFAER - 2T

HEEZRME (AL—THMNE ) IBD - IMBEZRE - NEER FEXMEDSR -
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SRR @ robot

50[1,969] *

MI12-12pin_1

93[3,665]

* H.288 A5 0% OnRobot TEREE
A R~ B398 mm FI[FE ],
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